MTH-4109 Quiz Name:
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Three of these representations correspond to the same function f, and two of
them correspond to another function f;.

Indicate which representations correspond to each function.
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2. Six representations are given below.
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F. k(x)=the image of an element is obtained by subtracting three from the
square of an element.

Three of these representations correspond to the same function f; and two of
them correspond to another function f,.
Indicate which representations correspond to each function.
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